2020—2021 ZF R E R )\ FERBFIEDSH

—. B (EE 345, £30459)
1B 2B 3.C 4A 5A 6C 7.B 8D 9C 10. D

—. ETE (835, k154
1. A& 12, 2 (8i3); 13. O@®); 14. 4; 15.(2,—2).

=, BEBR (KRB TE, 3755

16. (943 fifts J;E:ﬁ:\/g+12_§x\/1_8 ........................... 6 4>
= V641206 e, 8 4y
1D eeeeeeeree e 9 4y
17. (10 43) s F (BEEEZL) evveereereeseesrensenneen. 24
HyEER . #ERSM, Bl FRaKEE. AR EsT L, i
MERER, RFHF ERE T RIS CIF, FrUAEE S0 e 10 73
(o2 m, Hl: 2R rS&E TR, BZREATFSKr &, LT %E
FCHZN, B 2B R EE L F [ RS RA T v veeereereeereennnnnenne 10 49)
18. (10 73) fi#: (1) /NIIIXFXIPHE & HITTVEATERL, coeveeereeeereeeenns 177

RN x 3800 1 i,y RMERIIEINE A k(x+1)+b-(kx+b)=k.
RIS AE B () — R B b, x A1 AR 2 B, pREUE M 3 R S,

ile:lT 2, JHZIZ—&UZ@&EP k EI/JTE% D eeesssseccsiniitiiniiiienns 3 §j\
. -0, p= - . b=3 b=3, — _ . eeerreereeeenns VAN
(@ 3 -2 y=-203: { V72 {k:—z,y 2343 9 4)

Q)FFE 2. 10 &y
19. (10 43) fi#: (1)BEAHARPE NS IR N x,

ML 1 AABC BJ =LK 3xy 4xy Sxoeeeseeesseeseeneees 24y
(3X)2 4 (4X)2 = (BX)2,ereeereereeseesens 4 4y
SBA3x, dxy Sx AIIKIM =ML R EM =AY, MAABC REAM=MIY,
H S C=00° | ceeeeeeeeeenneneeeninnnnns 54 ]

(2) BEAME—, TEHEIAI 510 5 ERELN
mE 7N, ADEF BINFTR. B \;\F




20. (12 99) i (1) M DEER S, 20lF x B, y #fEEL, &2t

AR Xk L ) SRS SR — X R BN, XA AN AU ARRR -3 43
FEAM (1,1) Leveremeemssneesnmsnenns 4 4y
A i ST TR AR R IR R BT, coeeeeeeeeme e 6 4y
(2) ATfE, ALRTHPUMISFRETETE, coooeereneeeeneeen 10 43
bR —ANESF 1 B A AR R KTy X RRI IETT -
21 (12490 f#: (1) BORERIEAN N x 78, BRAB AN y JC, eeeeeeeeees 145
T4 {iéi:gi:jﬁg ........................... 3 4%
(TN Al - P
B RIRIIEANN 100 TG, BEABIEMT Y 20 TG, weeveereeeenmmnmnnennens 5%
(2) tR4E-E, W% 80a+156=1800,
1k fi#5:16a+3h=360, b-lZO—%a ........................... 74y
Va>15, SEEESERMENL, HAALIR 2 5 -
Ji%—: a=18, b=24, RIIGHEERK 18 4>, Bk4E 24 1R;
TR a=21, b=8 , RIHEEER 21 A, Bh4E AR, ooeeeeeeninin 9 7%
(3) HEHBEFREN: (100-80) x18+ (20-15) x24=480 (JT) == 10 4
THIBSERNE A (100-80) x21+ (20-15) x8=460 (JG) - 11 %
1480>460, WHEEEK 18 4>, BkAE 24 MR, %ﬁ-i%%'}%ﬂﬁ%% 12 4%

22. (1243 fi#: 4 AC/DEW, /CAE=./E=90°;

/A/A&c

ZC- LZDAE=180° - 30° - 45°=105°;

4 BC//AD B}, ZCAE=180° -
4 BC//AE W}, . ZEAB= /B=60°,

. LCAE= £ CAB+/ EAB=90°+60°=150°;
IEEEU% FERPE LB 25 1 3, SR BESE 3 45

........................ lzﬁj\



